Q1.

a)

b)

d)

e)

f)

g)

h)

Taname (GbudgetzzO,OOODepartment)
nage(GsalaryZSO,OOOEmployee)
nage((adname=--Catering--Department) X Works x Employee))

T[salary(Employee ™ (Gpercentage230W0Tks) ™ (UbudgetESOO,OOODepartment) ))

Teoname (Employee X Works (adname:uMarketing--Department))

u Tename (Employee X (Upercentage>50W0rkS ))

Tename ((T[eid(WorkS X Udname:HCateringuDepartment)

— neid(Works X abudget>500,oooDepartment)) I Employee)

Taname (Taia(Works) — 454 (0qgesaoEmployee 1 Works)) 1 Department)

p(TMP1,Works)
p(TMP2,Works)

p(TMP3,oiqWorks — meiq(TMP1 ™ (1yp1 eig=rmp2.cia) (rmp1aia<>TMP2.aia) T MP2))

Tage(TMP3 > Employee)

Tsaiary (Employee Xgiq—manageria Department))



i)
p(TMP1, Department)
p(TMP2, Department)

p(TMP3, Tanageria Department

~ Tmanagerid (TMP1 N(TMPl.managerid=TMP2managerid)A(TMPl.did<>TMP2.did) TMPZ))

Tage (TMP3 Nmanagerid=eid Employee)

Q2.
a)
Ttitle (astudio="Universal"MovieS)
b)
Tname ((nactarid (Ocharacter="Forrest Gump”StarSIn)) > Actors)
c)
Tname (Unationality=”German”ACtOTS)
d)
Tnationality ((nactorl-d (Gcharacter="Forrest Gump"StarSIn)) ™ ACtOT‘S)
V)
T[nationality ((T[movie_id (ayear= 1980 MOUit?S)) > Starsin x ACtOT‘S)
e)
p(TMP1,StarsIn)
p(TMP2,StarsIn)
p(TMP3, T yceor jaStarsin
= Tactor_ia (TMP1 ™ ryp1 actor_ia=Tmp2.actor_id)" (TMP1movie_id <>TMP2movie_ia) | MP2))
Tpame (TMP3 X Actors)
f)
p(TMP1,m4ceor,, (Stars[n D 01980 Movies))



p(TMP2, 1o, (Stars[n X T Movies))

. ,
studio= Universal

Tname (TMP1 — TMP2) x4 Actors)



